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Code—B

- Part-A (Physics)

: Q“§Sf°‘_’ Questions

1. | The electromagnetic damping experienced by a metal mass moving in a

magnetic field is due to

| (1) Alternatihg current
‘ ' (2) Eddy current

(8) Magnetic field

(4) Alternating potential produced in metallic mass

2. | The value of current at resonance in a series LCR circuit is affected by the

value of
(1) Ronly (2) Conly:
(3) Lonly 4) L,CandR

3. | In which of the following regions of electromagnetic spectrum will the

vibrational motion of molecules give rise to absorption ?
(1) Ultraviolet (2) Microwave
3) Infrared (4) Radiowaves

4. If the refracting angle of a prism is 60° and the minimum deviation 30°,
the angle of incidence will be |

(1) 30° : (2) 45°

(3) 60° @ 90

5. | The impurity concentration in a normal diode is equal to
(1) 1in 10°Parts (2) 1in 10° parts
(3) 1in 10®parts (4) 1in 10%parts
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“ﬁsot.i"n Questions

6. | Four bulbs marked 40 W, 250 V are connected in series with 250 V mains,
the total power consumed i is
(1) 10w (2 40w
(3 320w (45 160 W

7. | The resistance of an ideal voltmeter is
(1) zero . (2) infinite
3 >1ikQ 4 >1Q

8. | A dip needle in a plane perpendicular to magnetic meridian will be
(1) Vertical
(2) Horizontal
(3) atan angle 45° to the horizontal
(4) at an angle of dip to the horizontal

9. | A power line lies along the east west direction and carries a current of
10 ampere The force per metre due to earth’s magnetic field of 104 T is
(1) 10°N (2) 10*N
3) 103N (4) 102N

10. | The maximum energy of a deutron coming out of a cyclotron accelerator is
20 MeV. The maximum energy of protons that can be obtained is
(1) 10MeV (2) 20MeV
(3) 30MeV (4) 40MeV

BPH-EE-2013-Code-B (2)
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11.

The magnitude of electric field strength E such that an electron placed in

it would experience an electric force equal to its weight is given by

() mge o —

e | e’g
® @ £

mg

12.

The electric poteh_tial at the surface of an atomic nucleus (z=50) of radius

9 Fermi is _
(1) 80Volt ’ (2) 8x10°¢
3) 9V (4) 9x10°V

13.

A charge Q is distributed uniformly in a sphere (solid). Then the electric

field at any point r where r <R (R is radius of sphere) varies as
W.r% @ r
(8) pricst g @ r*

14.

At a point on the axis of an electric dipole ; -
(1) The electric field E is zero

(2) The electric potential V is zero

(3) Neither E nor V is zero

(4) Both E and V are zero

15.

The quantity in electrii:ity analogous to temperature is
(1) inductance , 2) charge

(3) resistance (4) potential

BPH-EE-2013-Code-B (3)
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Question :
No. Questions
16. | Atwhat temperature is the r.m.s. velocity of a hydrogen molecule equal to
that of an oxygen molecule at 47°C ?
(1) 80K ‘ 2) -73K
3) 3K , 4) 20K
17. | A material has Poisson’s ratio 0.5. If a uniform rot of this material suffers
a longitudinal strain of 2x10-%, what percentage increase in volume takes
place ?
1) 2% @) 2.5%
(3) 5% _ 4) 0%
18. | A metallic sphere cools from 50°C to 40°C in 300 sec. If the room
temperature is 20°C, then its temperature in next 5 minutes will be
(1) 38°C (2) 33.3°C
(3) 30°C (4) 36°C
19. | PV diagram of a diatomic gas is a straight line passing through origin. The
molar heat capacity of the gas in the process will be
(1) 4R (@ 3R
4 5
ZR — R
® 3 @ SR
20. | An elastic string has a length I when tensionin it is 5N. Its length is h when
tension is 4N. On subjecting the string to a tension of 9N, its length will be
(1) Il+h | 2) I-h
I+h
@) 5l-4h @ = .
o h-1
BPH-EE-2013-Code-B (4)
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uestion
No.

Questions

21.

A ball is dropped from the top of a tower of height h, it covers a distance|
h/2 in the last second of its motion. How long the ball remains in air ? Take

g=10ms2
(1) Zix/Z— sec (2 x/fsec

| ® 2sc @ 2o

22.

Two particles are projected simultaneously in the same vertical plane, from
the same point, both with different speeds and at different angles with
horizontal. The path followed by one, as seen by the other, is

(1) avertical line

(2) aparabola

(3) ahyperbola

(4) astraight making a constant, angle (= 90°) with the horizontal

23.

A bullet fired into a target loses half its velocity after penetrating 25 cm.

How much further will it penetrate before coming to rest ?

D V26cm (2) 25cm.
(3) 8.3cm. (4) 75cm.

24.

A small ball describes a horizon‘tal circle on the smooth inner surface of a
conical funnel. If the height of the plane of the circle above the vertex be|
10 ¢cm; what is the speed of the particle ?
1) 2mls @) 4mis
3) 16m/s 4 1m/s

BPH-EE-2013-Code-B (5)
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Question
No.

25. | A body is projected vertically upwards from the surface of a planet ¢

Questions

radius R with a velocity equal to half the escape velocity of the planet. Th
maximum height attained by the body is

o3 @ % @ B4 @ B

26. | Under the action of a force F = Cx, the position of a body changes from 0 t

x. The work done is
(1) % Cx? 2) Cx?
3) Cx 4) % Cx

27. | The angle turned by a body undergoing circular motion depends on time as
6=80,+6,t + 0, t*. Then the angular acceleration of the body is

;&g‘gf 3) 26, 4) 26,

28. | A rocket of mass 1000 kg exhaust gases at a rate of 4kg/s with a velocity
3000 m/s. The thrust developed on the rocket is

(1) 12000N | (2) 120N
(3) 800N 4 200N

29. | If A is the wavelength of hydrogen atom from the transitionn=3ton =1,

then what is the wavelength of doubly ionized lithium ion for the same

transition

o ¥ 2) 3

® % 4) 9
BPH-EE-2013-Code-B (6)
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Questions

30.

The dimensions of pressure gradient are
(1) ML2T?2 (2) ML2T
(3) ML'T (4) MLT2

31.

The p.eriod of oscillations of a mass 1.6 kg suspénded from a spring is

2 seconds. If along with it another mass m kg is also suspended, the period
of oscillations increases by one second. The mass m is

1) 1lkg 2) 2kg
3) 16kg 4) 2.6kg

32.

Two coherent sources must have the same

(1) Amplitude (2) Phase difference only
(3) Frequency only (4) Phase difference and frequency

33.

When a source is going away from a stationary observer with a velocity
equal to that of sound in air, the frequency heard by observer will be

(1) Same (2) Double

(3) Half (4) One third

34.

Ultrasonic waves are produced by
(1) Piezoelectric effect (2) Pettiro’s effect
(3) Dopplers effect (4) None of these

35.

Fundamental frequency of a sonometer wire is n. If the length, tension and
diameter of the wire are tripled, the new fundamental frequency is

n . n
O 7 @ 3
® 3 @ 375

BPH-EE-2013-Code-B (7)
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Part-B (Chemistry)

Questionl

No. Questions

86. | Cannizaro’s reaction is not given by :

CHO
L lo iy ok @—CHO

(8) HCHO 4) CH,CHO

87. | Picric acid is
(1) Trinitroaniline : ‘(2) Trinitrotoluene

(3) Volatile liquid (4) 2,4, 6 — trinitrophenol

88. | Which of the following acid is a Vitamin ?
(1) Aspartic acid (2) Ascorbic acid

(3) Adipicacid (4) Saccharic acid

39. | The commercial name of polyacrylonitrile is
(1) Dacron - (2) Orlon

3) PVC . (4) Bakelite

40. | Equanilis: |
(1) artificial sweetener (2) tranquilizer

(3) anti histamine (4) antifertility drug

41. | XeF, on complete hydrolysis gives :

(D) Xe @) XeO,
@) XeO, i 4) XeO,
BPH-EE-2013-Code-B O (8)
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No.

42. | When one mol CrCl,.6 H,O is treated with excess of AgNO3,- 3 mol of

| AgCl are obtained. The formula of the complex is: .
(1 [CrCl, (H,0),].3H,0  (2) [Cr (H,0)] Cl,-
3) [CrCl2 (HzO) n Cl. 2H,0 (4) [CrCl (H,0),] Ci,.H,0

43. .Elec.:tronic configuration of a transition element X in + 3 oxidation state is

[Ar] 3 d°, what is its atomic number ?

@ 2 @ 2 @ 21 @ o

44. | Ethylidene chloride isa/an
| @ viedihalide (@) gem-dihalide
@ allylichalide (4) vinylichalide

45. | Phenolis less acidic than
(1) ethanol o (2) o-nitrophenol

(3) o-methylphenol ~  (4) o-methoxyphenol

46. | The colloidal _soluti_on of gelatin is known as
(1) Solvent loving (2) Reversible
(3)7 'Hydrophilic | (4) All of the above

47. | Flux used in the metallurgy of iron is
(1) sio, @ CaCo,
(3) Felspar ‘ @) Flit ;

BPH-EE-2013-Code-B (9)
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48,

Which of the following acids for‘ms.three series of Salts ?
1) H,PO, (2) - H;BO,
@) H,PO, ‘' (4) H,PO,

49.

Oxygen molecules shows :

1 Q) Diamagnetism : (2) Parémagnetism

3) Ferromégnetism j 4 Ferrimagnetism

50.

Identify the molecular formulé of tear gas :

| @ coci, (@ CCI,NO,

@ CCIL,CHO ~ (4) None of above

51.

A solid compound X’ on heating gives CO, gas and a residue. The ;‘esidue
mixed with water forms Y. On passing an excess of CO, through Y in}
water, a clear solution Z’1s obtained. On boiling Z’ compound X' is reformed.

The compound X’ 18

(1) Ca(HCO,), @ CaCo,

| @ Na,CO, 4) K,CO,

52.

The wrong statement about fullerene is

{ @ It hés 5.membered Carbon ring

(2) Ithas 6-membered Carbon ring
@) It has sp® hybridization

(4) Ithas 5-membered rings more than 6-member‘ed rings

BPH-EE-2013-Code-B Tigoy”
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IQuestion‘

No. Questions
53. | The chemical composition of cryolite mineral is
1) Ac0, ' @ A40,12H,0
3 KA¢Si,0, (4) Na, A(F,
54. | CH, -CHC¢—-CH, —CH, has a chiral centre, which one of the following
represents its R conﬁguratién ?
C,H, C.H,
(1) H—(I?wCH3 o (2) CZ—(II-CH3
o e
?Hs
® H ~?~ Ce @ Hac—('J-— o7,
C,H, ' - H
55. | Wurtz reaction is best used for making :
(1) Unbranched alkanes (2) Symmetrical alkanes
(3) Unsymmetrical alkanes (4) n-alkanes with odd number of carbons
56. | A gas occupies 2 litres at STP. It is provided 300 J heat so that its volume
becomes 2.5 litres at 1 atm. Calculate change in its internal energy
(1) 300d (2) 249.35d |
3) 498.70J (4) 600J

BPH-EE-2013-Code-B (11)
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o Questions

57. | What should be the solubility product of A, (SO,),
(1 278 (2 7288
(3) 108 S* (4) 108S°

58. | Which of the following arrangements represent increasing oxidation nu

of the central atom ?

(1) CIO;, CrO*, MnOj;, CrO;
2) CrO;, ClO;, MnO;, CrO¥
) CrOf, MnO;, CrO;, ClO;
| @ CrO;,.ClO;, CrO?", MnO;

\ 59. | In solid ice, oxygen atom is surrounded :

E@a,% ‘ (1) tetrahedrally by 4 hydrogen .atoms

(2) octahedrally by 2 oxygen and 4 hydrogen atoms
(3) tetrahedrally by 2 hydrogen and 2 oxygen atoms

(4) octahedrally by 6 hydrogen atoms

60. | The paramagnetic species is :
1) KO, (2) SiO,
3) TO, (4) BaO,

61. | The total numbers of protons in 10.0 g of CaCO3 is

(1) 1.5057x10* (2) 2.0478 x 10*
(3) 3.0115x10* (4) 4.0956 x 10**

BPH-EE-2013-Code-B (12)
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No. . Questions
62. Wlﬁch 6f thé following seté. of quantum numbers are correct ?
1) n=1,¢=1,m=+2 |
@ n=2¢=2,m=+1
® n=3¢=2,m=-2
4 n=3 ¢=4m=-2
63. | Among halogens the correct ordei' of electron gain .enthalpy is :
(1) F>Ci>Br>I" |
2) F’<. Cl<Br<lI
(3 F<Cl<Br>I
@ F<Cl>Br>1I
64. Thevhjrbﬁd stafes of central atom in diborane, diamond and graphite are
| respectively :
(1) sp?, sp?, sp? @) sp®, sp®, sp? 50
® sp®, sp®, ép? ) sp, sp*, sp® (_
65. | Which péir_of the gaseous diffuse through a small jet with same rate of
diffusion at same P and Ty _
(1) NO,CO @ No,co,
®3) NHa, PH, 4) NO, C2 H,

BPH-EE-2013-Code-B (13)
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' 66.

Which of the followmg gasesis not a green house gas ?
(1) CO | 2) O,
(3) CH, (4) H,0 vapour

67.

The?edge-length of face centred unit cubic cell is 508 pm. The radius of ‘

atom will be

(1) 1796pm  (2) 288pm

| ® 618pm (@ 398pm

68.

The freezing point of 1 molal NaCl solution assummg NaCl to be 10(
d1ssoc1ated in water is : (Kf=1.86 K Molality™) '
(1) -1.86°C (2 -3.72°C
(3) +1.86°C @ +372°C

69.

While charging the lead storage battery
(1) Pb SO, anode is reduced to Pb
(2) Pb SO, cathode is reduced to Pb

| 3 Pb SO, cathode is oxidized to PbO,

4) Pb SO, anode is oxidized to PbO, -

70.

| Which of the following is a unit of zero order reaction ?

(1) molL'S™ ) L molS™
@) L'molS™ o ) Liniol. 8

BPH-EE-2013-Code-B  (14)
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Part-C Option (i) (MathemticS)

: “’Qi‘;sfmﬂ._ Questions
71. | The value of Is'e‘/; dxis
F S
1) 4e : @) 6
3) 2et ' @) 3e
72. | The aréa of the figure bounded by y = sin X, y = cos x in the first
quadrant 18 _ ghins
™ 2(2+1) | @ 2(v2-1)
® 2(v3-1) @ V2-1
73. | The solution of the differential equation y % =x—1 satisfyingy (1) = 11is
' (1)' y2=x"’72x+2' @ y?P=x2-2x+1 |
3) y=x'-2x+2 (@ YP=Ex2+2x+2
74. | If @ and b are two unit vectors inclined at an anglé 0 such that 4+b i;s.a
unit vector, then 6 is equal to:
' T 3n
W 3 @ 7
. 2m o
3 3 ). 1
75. | If a, B,y are the angles which a directed line makes with the positive
| directions of the coordinate areas, then sin®q + sin? B+sin’y =
(r 0 5l 2 @1 @ 3

BPH-EE-2013-Code-B _ (15)‘
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76. cos‘lé+ 3 sin"lé =
T 47
» = @ 3
37 ' —— S5n
| 3) Y ‘ 4) 5
. If w is one of the cube foots of unity, then |
1 w oW
w 1w =
\jfz w1
(1) w? s 2 w
® o ot @ 1
11 0 O
78. | If A={0 1 0 |,thenA’=
‘ X yesd |
1 I, - (2)‘ A
3 -A s 5 B siefial ey i @ 1,
; “m‘x+1", x<W,

sinx+n, x>% :

: and f (x) is COntinuous at x=" 9 then

1) m=%+1 ; (2) ms=n=
3) nﬁ-mg R @ ml=1,ri

BPH-EE-2013-Code-B (16)
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: lngs:wﬂ ; , . Questions

80. The maximum value of xy subject tox +y =12 is

1@ 16 @ 18 @ 24 @ 36

81 | IfX=(1,2,3),Y={3 4}, Z={4, 5, 6) then X U(Y 2) is
SRR SRS R i
@ {1,234 @ {13,

82. | Let A={(a,b): a’+b*=1,a, beRLThenAis
(1) symmetric 2) éntiéymmetric |

(3) reflexive , (4) transitive

M 83. | Iff x)=2x"+K, _f.(2) =26 and f(4) =138, then f (3) =
| (1) 86 5 2) 32
@ 5 ey e

84. | If siné +c080 = /2 cos 8, then cos 6 —-siﬁ 0=

¢)) _ﬁ cos 0 ' 5.1(2) J§ (cos 6 +sin@) -
@) —vZsino @ 2sin0
1T s%n ‘(x+ay)= a+’b’ then 12X _
sin (x-y) a-b tany
g oS
: a—-_b I
@ a+b (4) i

BPH'-EE‘-22013—Code-B' ‘ 1T
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IQ“I‘fIs:.im"l-y = ale . Questions
1 1 1 it
86. | If e e in A.P., then
(1) a2 b% c?arein A.P.
(2) a,b,carein A.P‘.
jeecy- o '
@) —, ‘l, — arein A.P
| a b e
(4) a,b,carein G.P.
87. | The nearest point on the line 3 x — 4 y = 25 from the origin is
» G-9 e @ 4,-3) |
3 G4 4) 4,3
88. | The area of the circle centred at (1, 2) and passing through t
point (4, 6) is v ’ '
(1) 16=x : (2) 25n
3 36n .4 497
89. | The ratio in which xy-plane divides the join of (1, 2, 3) and (4, 2, 1) is
ca (1) 2:1internally (2) 1:2externally
(3) 1:3internally 4) 31 externally
00 L. . (2 x++/4 x?——x)=
M 2 Yoy
1 1
® 3 @3
'BPH-EE-2013-Code-B . (18)
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91. | If |Z|2 +i = Iz‘2—1|, then z lies on
(1) circle : P @) ‘ ellipse
(8) parabola 4) ‘noﬁe of these
92. | The in'equalities 3x -—‘y 23,4x~y > 4 have
(1)} solution for all x -
@ ' solution for all 'y :
3 solufion for positive x and y
(4) no solution for positive x and y
93. | Three dice are rolled. The number of possible outcomes in which ét least
one dié sﬁows 31is
% | @ 2
|@ 81 @9
94. | If "P, =120 "C,, then the value of r is
1 3 @ 4
o T @ 6
\ ‘ ; 1 ‘ 15
95. | In the expansion of (x3 - ;;) , the constant term is
0 e : 27,
@ are s @ %

BPH-EE-2013-Code-B (19)
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96. | If y=\/;inx+\/;in}x+'«/sinx+ ------ o then %Y-=
, X
2y-1 T cos X
& cos X : : @ 2x-1
CoS X 2%—-1
3 4
®) 2y-1 (). cos X
97. | If the numbers between 1 to 65 and divisible by 4 are writtén in reverse
order then which of the following numbers will be at 10th place ?
o 24 @) 28
(3) 82 (4) 36
'98. | Each observation of a raw data whose variance is o’ is multiplied by K
then the variance of the new data is
L o ‘ @ Ko’
| @ Ko 4) K+o®
99, | Three identical dice are rolled. The probability that the same number wil
appear on each of them is
1 i
W 36 @ 1
1 1
() i e
® 3 @ 3
100. | A speaks truth in 70% cases and B speaks truth in 80% cases. Th
probability that they say the same thing while describing single event is
(1) 058 (2 062
(3) 064 | 4) 076

‘BPH-EE-2013-Code-B  (20)
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 Code-B

Mo | Questlons
101 ; Vmegar is obtamed from mollasses with the help of v
o (l) Aspergzllus : | (2) Rhtzopus 1
(3) .. Acetobacter (4) Pemczllz,um

'v The amount of ATP requ1red for the synthes1s of o
i 45 pathway is )

ne glucose molecule in

l -':(1) Measles

e '(3) Glaucoma

(1) 18ATP @ 20ATP
_ _(3} 28 ATP @) 30 ATP
| 103 that are the natural reservoir of phosphorus ?
= e e @ Animal bones :
| (3)- Sea water (4) Plants
| ‘. 104  The trop1cel forests 1h Indlia are located 1 . R
-. '(l) Haryana | (2) H1machal Pradesh
'»'(3) Jammu&Kashmn' (4) Andamans i
s | ’1_0‘5.,_' 3

Wh1ch of the followmg is an eye d1sease ?

(2). Bronchitis &
’ @ Diabetes_

e 106.'

; The protectwe covermg of bram is:

' (1) Pleura

: (2) Meninge_s'

3) Per1card1um . 4) Peritoniulh

BPH-EE-2013—Code-B
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~No. ,

_107." Fert111zat1on of ova 1n human takes placein :
(1) Uterus j : oA : (2) Vagina
'(3). ‘Falloplan tahe = o (4) Ovary

. 108. Carbon monox1de p01son1ng is due to the formatlon of
gl Metharis i (2) Carbomc ac1d

3) Carboxy haemoglobin s 2 i (4)_ Oxy-haemoglobrn : e

E 109. Abnormal secondary growth 1s found 1n o
,'(1) Cucurblta i 3 i gy Dracaena'

| _(3) Tr1t1c‘:um e » \ (4) Sugarcane |

110. | Whlch 1is the causatlve orgamsm of Typh01d ?

1) Salmonella typhz |
2) Mycochtertum lypihai= -
1 ® Plasmodium f‘a-lciparumgl |

ek (4) All of the above -

“111. | "Hydroponi-cs is
| (1) Soil less culture o - A2 ‘Water leSS_,Culture

:(3) A1r less culture - - ~{(4) Nutrient leSS;Cult,'v»‘lr,e b |

Y1d. ) Bt crop grown by the farmers in Ind1a is :
| (1) Malze ; G = . L : 2) .Wheat |
3) Cotton - © (4 Tomato .




 CodeB

, .Qu"es”tions

3. | Age'of tree can be eefimate'd by :
| (1) He1ght and glrth o e B1omass

}'(3) Cork ey = e ) Number ofAnnualrmgs

. b/In DNA adenme normally pan' with »
L) Ganims. o 0} Cytosme |
' r(73) TR e e (4) _U,racﬂ‘

The genotyplc rat1o of monohybrld cross 1s

(1) 3 1 : ; | ‘. (2) 9 g 3 1

l® 11 L e o

:Down syndrome is usually the result of an extra chromosozne
 '<1>«,1;5_.. = e @ 1 :
| '(3)-’*19‘“ - gl <4‘) 21

. V.The two strands of DNA are Jo1ned by

- jv(l) CovalentBond ‘ _- (2) Ion1c Bond

118. |

| : (3) Hydrogen Bond e e Phosphod1ester Bond i

Wh1ch is the most pr1m1t1ve group of algae ?
(1) Green algae TE . (2 Blue green algae

(3),_ Red-algae o o (@ Brown algae

BPH-EE-2013-Code-B (@9
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119, Durlng cell cycle DNA synthes1s takes place in : ‘
1) Prophase i gty Gt (2) S phase s
3 G1 phase _- ‘ SR - (4) G2 phase

120. Photosynthetlc plgments are Iocated in the ;
(1} Thylakmd membrane S

. (2) Inner- ‘membrane

(3) Outer membrane

4 Thylakoid lumen

121. | Gene therapy is: ¢

. (1) Method to determlne blood group . i
(2 Method to replace a defectlve gene w1th a healthy gene |
(3) Method to determine evolutlo . ’ | :
'(4) AH of the above

Lo | 122, Hardy Wemberg Iaw 1n apopulatlon represents
» '(1) Allele frequency _ o ® Heterozygote frequency
{ ) Genotype frequency : Aty Homozygote frequency S
123, A'vmother-of blood group O has a group O child, the fat_her:coul-d’be'- of |
| blood type s e . - O
:(lz)v.AorBorO - e .(2)‘AorB' o
(3) Y'Oonly“ | ‘ o | (4) ABonIy
':»124. Interspemﬁc hybrids ¢ proved Very useful for : e
i (1) Gene functmn G oy (2) Gene mappmg < =
(3) Gene structure. gt (4) Genet1c mampulatlon i

"BPH-EE-'201‘3'—Code-B e <z4> |




Question|
fosg

’ 125 _Systémétics‘ deals W_ith:

o~

NO,

1) Classification Of’organisms
2 Identiﬁcation’ of organismg

among themselveg
(49 None of the above

(1) T«cell'deﬁciency ' :
ol 2) Enlargem.ent of sp'leen
| C)N Neutrophij excess
€)) W B. C. excesg

| o127, Which of the following 1s essential for bloog clotting'? |
W (2 Blood pl‘ateléts.
@ W.B.c.

1) Lymph
(3 R.B.C

128, _The'Saliva helps in the igestion of -

141y Starch
.(3) Fibreg
129. | Goitre is caused by
(1) Over eating
2 Déﬁc‘iency of Iron
1 3) ‘Deﬁciency of Iodine
@) Deficiency of Vitaming
130, Testosterone js secreted by : .
| (1) Histocyte =~~~
(3) Leydig cells

‘BPH~EE-201‘3—Code-B @

v Quéstions

Code-—

3) The kind and:diver-sity.of all organis'ms}énd existing ‘relationship_s'

,.' 126. Patients suffering from AIDS have following Immune abriorm,alities :

2) Proteins.
(4) Fats

2 Sertoli cellg
4) Primary Spermatocyte




3

61

63 - ¢
64 - 2
66 - 1
68 - 2
69 - 1
70 - 1

51 - 2
52 - 4
53 - 4
54 - 2
56 - 2
58 - 4
59 - 1
60 - 1

3

43 - 2
44 - 2
46 - 4
48 - 3
49 - 2
50 - 2

24/06/2013
41

2
1

33 - 3
34

37 - 4
38 - 2
39 - 2
40 - 2

31
36 - 4

1

BPH-EE-2013
21
24 - 4
26 - 1
27 - 4
28 - 1
29 - 3
30 - 1

: B
11'- 2
12 - 2
14 - 3
16 - ¢
17 - 4
18 - 2
19 - 2
20 - 3

2
1
2
2
2
1
2
1
3

=)

8

O I I I I I I I I
EH

=

92}




(BIOLOGY) 24/06/2013

BPH-EE-2013

: B

g
o]
O
EH
23]
%]

21 = 2 31 41 51 61 71 81 91

i1 ~ 1

3

22 = 3 32 42 52 62 72 82 92

12 = 3

4

13 - 4 23 — 1 33 43 53 63 73 83 = 93

1

94

24 - 2 34 44 54 64 74 84

14 - 3

4

15 - 4 25 - 3 35 45 55 65 75 = 85 95

3

26 = 1 36 46 56 66 78 86 96

16 - 4

2

27 - 2 37 47 57 67 77 87 97

17 - 3

3

28 - 1 38 48 58 68 78 88 98

18 ~ 2

3

19 = 2 29 - 3 39 49 - 59 69 - 79 89 99

2

20 - 1 30 - 3 40 50 - 60 70 80 90 100 -

10 = 1




SET CODE : B BPH-EE-2013 (MATHEMATICS) 24/06/2013
41 -

= 1 11 - 3 21 - 4 31 - 51 - 61 - 71 - 81 - 91
2 = D 12 - 1 22 - 3 32 - 42 - 52 - 62 - 72 - 82 - 92
3 =1 13 - ¢ 23 - 4 33 - 43 - 53 = 63 - 73 - 83 - 83
‘ 4 - 3 14 - 4 24 - 3 34 - 44 - 54 - ' 64 - 74 - 84 - 94
;; 5 =3 15 - 2 25 - 2 35 - 45 - 55 - 65 - 75 - 85 - 95
g 6 - 4 16 - 1 26 - 3 36 - 46 - 56 - ' 66 - 76 - 86 - 96
r 7 -3 17 - 1 27 - 2 37 - 47 - 57 - 67 - 77 - 87 - 97

1
! 8 -1 18 - 2 28 - 3 38 - 48 - 58 - 68 - 78 - 88 - 98
9 -3 19 - 4 29 - 1 39 - 49 - 59 - 69 - 79 - 89 - 99

i 10 - 4 20 - 4 30 - 2 40 - 50 - 60 - 70 - 80 - 90 - 100




